12001 ‘ZZEHSHEL DIN I1ISO 21287 MM EENEER

o

t Nl @
s% PO . Jg : ;/_\
\)‘\ue g Q‘ / | d
Q- 3 \ ; ‘5
%m . ) g

7= miiEA

ME

% . %El%“o

W& EESS.

SEE  FHW 1.4301 ( BERES 32 mm L EWSELERA 1.4021)0
SEENEEREHHS  PU,

g
BE : ARSI E,
ﬁm . ;’E:‘.‘@:o

TEET R,

BR:
MAERSE TS DIN ISO 21287 +rff | SEEFRA T MRS IRL
BTFEEFRNABRNIhEE , XME .

REAGHRYTEATRERESE , BUFEEEESATRINRES
Bl

RS :

ThEERIE . M4EA.

EINER : 23RN TRES , 2ABIRLEB.
I/EED : 1 ZE 10 bar.

FRfEES : SRMEPEERS , XX,

TEMNE X,

ATFEEF BRI IhEE,

S zh1EL : DIN EN ISO 228/1,

BESER
-20 °C Z +80 °C,

© norelem www.norelem.com



www.norelem.com

32; 40mm

SW/

7 g
1 T 7
200 pZ = /;
S P i g ©O-9¢
[
e == ===y =R
a_
; E=  (@ened)
ﬁm 77" 2 7
m@ 7
N 1 B q
ol [ I v
@]
=} il.-l % - %
== by
& = mmw.|i|:|.mwﬁ s o —F3
s R @,

20; 25mm

cT ¢d ¢l

gl
B
N~
N
~
O
)
pd
a
H
Ir
A
e

152 Y
R

12001

© norelem



12001 ‘ZZEHSHEL DIN I1ISO 21287 MM EENEER

D1
D1 D
D o
N N T
ap = - D3
~ ~ D3
1 [ ‘
o é U i | & i f VL I & k=
o % ﬂ: ~ [ »:Ip,sr >
i LT
1 ' I X -~
Il - T ]
I | hy
Y] B ] /371 S | V
[ éﬂ | | g |
4\ i — i —
AR = | : A ; =]
D4 D6 D4
D5 D5
Dé6
il
P1
—-L-—
P1
f
IR
(©% O
AN
<| m
-] [[ < @
oG 1O
T MY
__lsw
A
B B
20; 25mm @ 32; 40mm
P EREL
12001-0200101 | A 20 10|22 | 37 M6 10|M5/4,2|7,5 47+0,5 106 | M5 |4| 7 |12,314,212,5| 8 188 142
LYo
12001-0200251 | A 20 25|22 | 37 M6 10|M5\4,2|7,5 62+0,5 106 | M5 (4| 7 |12,3|4,2|2,5| 8 188 142
R4
12001-0200501 | A 20 50|22 | 37 M6 10|M5\4,2|7,5 87+0,510/6| M5 (4| 7 |12,3/4,2|2,5| 8 188 142
2L
12001-0250101 | A 25 10| 26 | 41 M6 10|M5\4,2|7,5 49+0,5 106 | M5 [3(7,5/13,5/4,2|12,5| 8 295 248
2L
12001-0250251 | A 25 25|26 | 41 M6 10|M5\4,2|7,5 64+0,5 106 | M5 |3(7,5/13,54,2|2,5| 8 295 248
$RLL
12001-0250501 | I 25 50|26 | 41 M6 10|M5\4,2|7,5 89+0,5 10/6| M5 |37,5/13,54,2|2,5| 8 295 248
R
12001-0320101 | W 32 10|32,5/49,2 M8 12|M6(5,2| 9 54+0,5 12/ 7|G1/8| - |7,5/ 15 |4,5/ 2 |10 482 415
R4
12001-0320251 | K 32 25|32,5|49,2 M8 12|M6(5,2| 9 69+0,5 12/ 7 |G1/8| - |7,5/ 15 4,5/ 2 | 10 482 415
LYo

© norelem www.norelem.com




12001 ‘ZZEHSHEL DIN I1ISO 21287 MM EENEER

12001-0320501 m?zy 32 50|32,5/49,2 M8 12|M6|5,2| 9 94+0,5 12/ 7|G1/8| - 7,5 15 |4,5| 2 | 10 482 415
12001-0400101 W;y 40 10| 38 |57,2 M8 12|M6|5,2| 9 55+0,7 12/ 7|G1/8| - 7,5 15 |4,2| 2 | 10 754 687
12001-0400251 E\];y 40 25| 38 |57,2 M8 12|M6|5,2| 9 70+0,7 12/ 7 |G1/8| - |7,5| 15 |4,2| 2 | 10 754 687
12001-0400501 !!?;2 40 50| 38 |57,2 M8 12|M6|5,2| 9 95+0,7 12/ 7 |G1/8| - |7,5| 15 |4,2| 2 | 10 754 687
12001-0200102 é}‘;z 20 10| 22| 37 M8 10|M5\4,2(7,5/ 6 |47+0,5 16/ 6 | M5 7 (12,314,212,5 8 188 142
12001-0200252 !!Q;i 20 25|22 |37 M8 10/M5/4,2|7,5| 6 | 62+0,5 16/ 6 | M5 7 12,314,212,5 8 188 142
12001-0200502 9{ 20 50| 22|37 M8 10|M5\4,2(7,5/ 6 |87+0,5 16/ 6 | M5 7 (12,314,212,5| 8 188 142
12001-0250102 Effx 25 10| 26 | 41 M8 10|M5\4,2(7,5/ 6 |49+0,5 16/6 | M5 |37,5/13,5/4,2|12,5| 8 295 248
12001-0250252 :z}z 25 25|26 | 41 M8 10|M5\4,2(7,5/ 6 |64+0,5 16/6 | M5 |37,5/13,5/4,2/12,5| 8 295 248
12001-0250502 éﬁ;ﬁ 25 50| 26 | 41 M8 10|M5\4,2(7,5 6 |89+0,5 16/6 | M5 |37,5/13,5/4,2|12,5| 8 295 248
12001-0320102 9{ 32 10|32,5/49,2| M10x1,25 |12|M6|5,2| 9 54+0,5 19/ 7 |G1/8| - 7,5 15 |4,5| 2 | 10 482 415
12001-0320252 :z}i 32 25|32,5/49,2| M10x1,25 |12|M6|5,2| 9 69+0,5 19/ 7 |G1/8| - 7,5 15 |4,5| 2 | 10 482 415
12001-0320502 !!?;2 32 50|32,5/49,2| M10x1,25 |12|M6|5,2| 9 94+0,5 19/ 7 |G1/8| - |7,5| 15 |4,5| 2 | 10 482 415
12001-0400102 !!?;2 40 10| 38 57,2 M10x1,25 |12|M6|5,2| 9 55+0,7 19/ 7 |G1/8| - |7,5| 15 |4,2| 2 | 10 754 687
12001-0400252 !!Q;i 40 25| 38 |57,2 M10x1,25|12)M6|5,2| 9 70+0,7 19/ 7 |G1/8| - |7,5| 15 |4,2| 2 | 10 754 687
12001-0400502 !;Q;x 40 50/ 38 57,2 M10x1,25 |12|M6|5,2| 9 95+0,7 19/ 7 |G1/8| - 7,5 15 |4,2| 2 | 10 754 687

© norelem www.norelem.com




